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TEHX4y « Tfd - FER B Az ¥ = & #A #m il BN
JE BEHERT = 1 7,552, 499
EHET = 1 1, 340, 284
AR LT Y 1 1,249, 380 | Bk (FLH) RS+ 220 m3
2. bmATH ;
EHEER T Y 1 90, 904 |{EmEIEETE (BT 220 m2
TR E O M B HIF ME
Ak T Y 1 743, 310
TAT 70 M T = 1 743,310 | F/EEAR (H5E - BEE) 300 m2
RC-40 t=150mm ;
)8 (§E - BEE) 300 m2
AR BRI EEAS (20) t=50mm ;
HEKHEY) T Y 1 493, 350
R T =Y 1 493,350 |7 VE¢ANUTRIARIRE 50 m
PU1-B300-H300
B T = 1 658, 675
B 1Al T = 1 658, 675 | F=WE7 ny), ERAE R 25 H
Kt~ a7 200X200 X450 ;
A - SAE (ST BG R 50 m
1.8m 2m ;
TE AT R itk T Y 1 616, 200
B EY T = 1 616,200 | HLARSY BEIE 30 N
& E R L) 30ALLE ;
MREE T = 1 3,212, 500
B SR T = 1 3,212,500 |JEEERE (EA) 25, 000 m2
SN AL T =Y 1 147, 560
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AR AESE T X 1 147,560 |toH 20 %
KA H
HEYE T = 1 111, 270
EERUE L T = 1 55,810 | &l R 100 m2
TAT7VMERSERR t=15emPLF
TE LB T =Y 1 55, 460 | BE 10 m3
TAT7IV NS
RISy 10 m3
TAT7IV NS
A Y 1 229, 350
B EHT = 1 229, 350
[ERAE Xy = 1 7,552, 499
HiE 2 2 1 1, 286, 000
BISTIGE: = 1 124, 000
BGRESGESE (5 L) = 1 124, 000
B (FEHL) = 1 1, 162, 000
T = 1 8, 838, 499
Bl gy 2 1 4,415, 000
T =5l = 1 13, 253, 499
— R A 2 1 2,846, 501
TS 2 1 16, 100, 000
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